1-799 57 14 9
PC
O
1
PC PC
PC
v
2 1
ASL  Gpx 15mm 0.85g/cm®
1.8% 2.58g/cm®
5] 800 ‘o
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ASL PC PC SWPR7BL@ 15.2mm -
1 562kgf/cm? X
26.7kgf/cm? 2 6 465kgf/cm? o
35.2kgf/cm? 1.9x 10%kgf/cm? [
1 PC 28 -
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Gmax | WIC | da (kg/m?)
No | (mm) | (%) | (%) | W C S | ASL AE
1 15 | 28 | 47 | 158 | 550 | 771 | 222 | 176 11.0
2 6| 15 | 26 | 47 | 150 | 570 | 609 | 323 11.0
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32
PC No| (cm) (cm) | (cm) | (cm) | (kgflem?) | (kgffem?) | (cm?) | (%)
1 |150x 150 12 | 10 | 120 37.6 562 7.846 | 0523
2 | 140x 140 | 11 8 | 120 51.3 465 7.133 | 0.637
3 |140x 140 | 11 8 | 120 51.3 465 7.133 | 0.637
-2 4 | 140x 140| 13 | 10 | 120 44.7 465 7.133 | 0510
5 | 140x 140| 13 | 10 | 120 44.7 465 7.133 | 0510
T smax 6 | 140x 140| 15 | 12 | 120 389 465 7.133 | 0.425
0O max
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P = tsma{2aXa + 2(b+ 2Xa )X/ tan B}
+ Gtma{2h/5(a + 2dm/ tanB)+ 2h/ 5(b + 2da + 2h/ 5)}

T smax (kgf/cmz)
0 tma (kgf/cm?)

T smax=0.2520 o 0.0002460 o (kgf/cm?)

0 tma=0.5830 2% (kgf/cm?)

0 « 500kgf/cm?

O sma=2.2140 4% (kgf/cm?) T
O u (kgf/cm?)
-3
PC PC S | B—
40%
-2
50% -3
O  max 0.5 No (kN) (kN) / (KN) /
3 50% 1 2007 | 3118 | 067 | 2112 | 099
2 156.8 2341 | 067 | 1574 | 1.00
30% 3 1313 2341 | 056 | 1574 | 083
4 166.6 2996 | 056 | 2035 | 0.82
Tg =+ fo"F 12 5 154.8 2996 | 052 | 2035 | 0.76
x f 6 206.8 3700 | 056 | 2394 | 086
s ¢ t 0.59 0.88
10.2 10.0
T smax 0.7
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(1) PC
(2) PC PC
1) N0.348
pp.133-141 1984.
2) PC
21 3 pp.559-564 1999.
3) 2 1994,
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